..3...;

[pull of @parameter

107}

1072

H

S
L
T

=
TTTITTIT

0.95]

=
TITT[TITIITTT]

1 XX!! Xﬂﬂ‘“tﬂ‘ *:-mmm wod

0.9

10—8—6—4—20 2 4 6 8 10

[ pull of dxy parameter

107}

1072

=

<

o
|

[ pull of goverp parameter

107

1072 :

1074F]
o ef
g
@ 1.1
N S S S S S S
Iy ory P sestre T TiR TITERY 1 4R Y
-10-8 6 -4 -2 0 2 4 6 8 10
SEnt |
pull of B parameter |
; e 0,04
10_1 :_ ° :- ------ N'e‘lrém%;ar.t 0&3%
F E res -
= . 0.03;
r Chsant 0%
10—2 — A res
E . Chsant 8
: ' ean
i '.’ > ) 0.04
107 : ‘éjn Qe oy
E : .IHES - -
L @rﬁgt%\h 0.0.
I e
o <ALV | 4| | [RRRAR N AR
Eo e
o +f
§ 1.05F
| Rt .
= ‘

0. 910

56 4 5 0 3

[ pull of dz parameter

1074

1072

107

4 6 8 10

Ratio

T et Cjakbuyein U e “d
.M MAA A“,, AAA““ A

-10

et

46810



	Contents
	Page 1


